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COMM?::l UARTERLY EXAMINATION - 2024-25
Time Allowed : 2.30 Hours] MATHEMATICS ; [Max. Marks : 100

I.  Choose the correct Angwer. PART -1 Aiwia
f the digi =
1. Thesumo 9lts of the denominator in the simplest form of 351223 [0 ccvimians "
a 4 b) 5 6
2, éx(§ +l)=-__m °) qd 7
4 8 2 ik
5 5
3 2 15
3. Closure pr0perfy IS nottrue for division of rational numbers because of the number —-—-
- U b) - ¢ 0 d 1 .
4  -———-isadded to get252 ,
3 & B th2 c) 6 d 7
5 (2)x(2) = s ) )
i 1 ' ;
9 3 b = o 9 a2
6. AreaofaCircle ——=—-——. v
a) = b) 2mr c). Yamr? d)  2nr
7. Theproductof 7P* and (2P2)2{g —--—-mmm----
3 WPE b)  28P" c) 9P 9 11pe
+ = )
8. TR e ,
a) a*-ab+Db? b) a?+ab+b? c) a*+2ab+b?* d) a%2-2ab+b?
9.  Two similar triangles will always have ----------- angles. .
a) Acufe b) Obtuse ¢) Right d) Matching
10. The number of conversion periods in a year, if the interest on a principal is compounded every two
month is ------- . \ ‘
a) 2 b 4 c) 6 d 12
Il.  Fillin the Blanks. . ' 5x1=5
11.  The Multiplicative inverse of -1 is ——-——
12.  Theone digits in the square of 77 is ---—-----—
13.  Thelongest chord of a circle is ------=-=--- =
14. The cube has -———--faces.
15. The symbol ~ is used to represent -—-------—--- triangles. | :
lll.  Say true of false, 5x1=5
16.  0is the smallest rational number ( )
17.  The square root of 225 is 15.( )
18. 27y’ + 3y = Qyz,
19. The co-ordinates of the origin are (1, 1). ( ) 1
20. Loss or gain percentage is always calculated on the selling price. ( )
IV.  Match the following. GhE 5x1=5
21. Areaofacircle o, ’i 2
22 Circumference of acircle - (T‘z
23. Areaof the sectorof acircle - T
24.  Circumference of a semicircle - ggf
, .S A 2
25. Areaof a quadrantof acircle - 3600° ™
fuidil, 10x2=20
V. Answer any 10 of the folIowlng:-L(Q-mt'_,40 Compulsory)
- 26 Fing a rational number between 7 and g _ . V/8/Mat/1
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w g =i SN
27 Evaluate: i) 132 X% ")_27.

28, Find the value O J256.
29.  Simplify (35 + 3%)* x 3¢ 1 1
By how much does (5671‘;3 axtba s /10) ?

30.
1 A o A
31 Acircular shaped Gymnasium ring of radius 35cm is divided into 5 equal arcs shaded with different
colours. Find the length of each of the arcs. '
32 Acircle of radius 70 cm is divided into 5 equal sectors. Find the area of the sectors.

33 Find the product of 2x? y2, 3y2z and -z2x*
o, SO0 2t

34. Simplify = + gy

35 Find the value of (3a + 4c)? by using (a+b)? Identify.

36. Whatis 25% of 30% of 4007

37 If x% of 600 is 450 Then find the value of x.
The value of motor cycle 2 years ago was . 70,000. It depreciates at the rate of 4% p.a. Find its present

value.
39. Can aright triangle have sides that measure 5 ¢m, 12 cmand 13 cm?

~ 40. Is 108 a perfect square number?
PART - 1ll
7x5=35

VI. Answerany Seven questions. (Q.No.50 Compulsory.)

41, Arrange the following rational numbers in ascending and decending order.
5 -1 -5 7 12
12° 8 24' -9 ' 36
e d 4 (818 30, 12 . 2T

42. Slmphfy.[3 (2 ]+ AT k= X 16

43.  Whatis the square root of Cube root of 466567

44. IfP+2q=18and Pq =40, Find% +-%

45 Find the least numbers by which 1800 should be multiplied so that itbecomes a
Also find the square root of the perfect square thus, obtained.

46. Find the Area of the given figure.
Radius r= 3.5 cm.

perfect square number.

47.  Multiply: (2x+5y) and (3x-4y). | :
48. Find the quadrats without plotting the points on a graph (-3, 4) , (2, 0) (-7, -3).. (5, 2).
49. Find the C.| for the data Principal = Rs 4000, r=5% p.a, n =2 years.

50. Divide : (5y* - 25y2 + 8y) by 5y
PART - IV

Vil. Answer the following. 2x10=20
51. a) Constructaquadrilateral DEAR with DE =6 cm, EA=5cm,AR=5.5cm RD=5.2cmand DA=10¢cm.

Also Find its area. : (OR)
b) Constructa quadrilateral NICEwithNI=4.5cm, IC=4.3cm, NE= 3.5cm,NC=5.5cmand IE=5¢m,

Also find its area. 2 :
52. a) Draw astraight line by joining the points A (-2, 6) and B (4, -3)

(OR) ;
b)  Ifthe points P(5,3), Q(-3,3), R(-3,4) and ‘S' from a rectangle, then find the co-ordinate of S.

-

V/8/Mat/2
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